
Wie lautet die fehlende Zahl (bis 50 000)?

Aufgabe 1

1. 21 211 +     =  29 376

2. 13 501 +     =  20 036

3. 19 234 +     =  25 718

4. 18 234 +     =  29 678

5. 14 233 +     =  22 203

6. 21 952 +     =  32 814

7. 24 226 +     =  39 201

8. 20 924 +     =  30 125

9. 9 774 +     =  14 888

10. 20 075 +     =  33 278

Aufgabe 2

1. 15 785 +     =  24 921

2. 11 192 +     =  20 678

3. 12 222 +     =  22 672

4. 19 250 +     =  27 179

5. 24 965 +     =  31 506

6. 24 446 +     =  31 146

7. 12 804 +     =  25 282

8. 21 723 +     =  35 878

9. 24 204 +     =  43 958

10. 19 109 +     =  26 810

Aufgabe 3

1. 9 155 +     =  16 915

2. 12 027 +     =  22 122

3. 23 284 +     =  45 712

4. 23 410 +     =  31 838

5. 16 771 +     =  22 832

6. 18 280 +     =  36 220

7. 20 152 +     =  25 434

8. 19 635 +     =  39 073

9. 24 090 +     =  47 724

10. 16 057 +     =  28 717

Aufgabe 4

1. 13 195 +     =  23 682

2. 23 734 +     =  42 151

3. 15 858 +     =  25 174

4. 17 154 +     =  24 569

5. 17 413 +     =  26 350

6. 24 321 +     =  36 138

7. 21 415 +     =  42 341

8. 22 368 +     =  41 965

9. 11 946 +     =  17 598

10. 23 204 +     =  45 694
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Wie lautet die fehlende Zahl (bis 50 000)?
| ANTWORTEN

Aufgabe 1

1. 21 211 +  8 165  =  29 376

2. 13 501 +  6 535  =  20 036

3. 19 234 +  6 484  =  25 718

4. 18 234 +  11 444  =  29 678

5. 14 233 +  7 970  =  22 203

6. 21 952 +  10 862  =  32 814

7. 24 226 +  14 975  =  39 201

8. 20 924 +  9 201  =  30 125

9. 9 774 +  5 114  =  14 888

10. 20 075 +  13 203  =  33 278

Aufgabe 2

1. 15 785 +  9 136  =  24 921

2. 11 192 +  9 486  =  20 678

3. 12 222 +  10 450  =  22 672

4. 19 250 +  7 929  =  27 179

5. 24 965 +  6 541  =  31 506

6. 24 446 +  6 700  =  31 146

7. 12 804 +  12 478  =  25 282

8. 21 723 +  14 155  =  35 878

9. 24 204 +  19 754  =  43 958

10. 19 109 +  7 701  =  26 810

Aufgabe 3

1. 9 155 +  7 760  =  16 915

2. 12 027 +  10 095  =  22 122

3. 23 284 +  22 428  =  45 712

4. 23 410 +  8 428  =  31 838

5. 16 771 +  6 061  =  22 832

6. 18 280 +  17 940  =  36 220

7. 20 152 +  5 282  =  25 434

8. 19 635 +  19 438  =  39 073

9. 24 090 +  23 634  =  47 724

10. 16 057 +  12 660  =  28 717

Aufgabe 4

1. 13 195 +  10 487  =  23 682

2. 23 734 +  18 417  =  42 151

3. 15 858 +  9 316  =  25 174

4. 17 154 +  7 415  =  24 569

5. 17 413 +  8 937  =  26 350

6. 24 321 +  11 817  =  36 138

7. 21 415 +  20 926  =  42 341

8. 22 368 +  19 597  =  41 965

9. 11 946 +  5 652  =  17 598

10. 23 204 +  22 490  =  45 694
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